R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 586\Drawings\Current\TX-4208-11.dwg, TX-4209

Endura

PR ODUCTS, I

8811 West Market Street
Colfax, NC 27235

Glazed Steel Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Steel Door system described herein complies with the 2006
International Residential Code (IRC), Sections R301 & R613 and the 2006
International Building Code (IBC), Sections 1405.12, 1609, 1714.5, 2403 and
2404 (including Texas revisions) subject fo the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

4. Conditions not covered by this drawing are subject to further engineering
analysis.

TABLE OF CONTENTS

SHEET# DESCRIPTION
1 Typical elevations, design pressures & general notes
Astragal details (Ultimate Multi-point)
Astragal details (Ultimate Huricane)
Door panel detdils (lip lite insert glazing)

Horizontal cross sections
Vertical cross sections
Frame anchoring

N[ | B |WN

74.44" MAX. FRAME WIDTH

97.94" MAX. O.A. FRAME HEIGHT (INSWING)

97.125" MAX. O.A. FRAME HEIGHT (OUTSWING)

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

P.O. Box 230 Valrico FL. 33595
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

CERTIFICATE OF REGISTRATION # F—11852

XX

INSWING

-35.0

S 5
/, //
//// // /
y /
[ pESIGN Pressure (pse) |

-45.0

OUTSWING

-45.0

-40.0

%)
=
28
%)
i
=
g
<
o |
> 5 Z=©
= [ e
e S| 3
o o
) wn
2] ql-l-l
< <X
- x| SR
=0
3 ol Lo
fa) o Py
(@] x o-
@ < o
o (s
U)U)>_
| BT
W
X
=
=4
<
G
o |
4
x| |
O |1Z
|
=
3l B
<|g| |2
o
=D a
0o
<|=| |x
@
=
=SI<
Z|a
w
ol|a
ala
<<
'-0*
NNE
NQUS
lO‘*
—lo
N=|=
oae: 8,/08/12
ScALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4209

SHEET 1 oF 7

© za12 R.W. BUILDING CONSULTANTS INC.



R:Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 586\Drawings\Current\TX-4208-11.dwg, 2-2

\8

=
Ve

S

3
—

S
EA =
5 A

Z
.
e

el
N A

="

-~ W I _

———
v )

—

Upper Bolt Sleeve - Aluminum

7

(2)#8 X 1-1/2"
“~ PFH WOOD SCREWS

Latch Actuator

’ Steel

Aluminum Body

Lower Bolt Sleeve - Aluminum

ULTIMATE MULTI-

Lower Latch - Reinf Resin

(2)#6-32 X 5/8" MACHINE SCREWS
(4)#8 X 3" PFH WOOD SCREWS

(2)#8 X 1-1/2" PFH WOOD SCREWS

POINT ASTRAGAL

Astragal Section

uj
R
£, B
S 2 £% 2 o
guf e wt T L
501 PR 52 £05 37
dur 1Z: Tw %282 53
2 i 3° H53E38 ak
i 2> ﬁ§
e R Zgn &b
t ‘L\:-l 5 o 2 O« - ga
Qoo @ o xS T
° Z8C Bu
= o 2 o
2 456 ©
0 29 f @ =
= — - N Do g g
o0 m=
Frow —— e = e TEe = 2 § n
ol o m
2.25 —— : X gg
33.75" a
48.0"
52.0"
60.0" ~
o, 63.0" - s m(g)
Q’ 760" o) sa
93.75" 5 < L=
2 EFE
ANCHOR SCREW LOCATIONS S|z Sx
Upper Latch Lower Latch @ =S
3 2 3
o . . 8 o N—
| ﬂﬂ::l:E!l m: B g;@.{:]a:m.. ;§:: To I S o
f=—1.75" 1.75" —= |=— ) o o
7.5
A [ P
7.5" 26.0" ||
35.5" LATCH 'cg
41" DEADBOLT i
Upper/Lower Bolt Actuator Lever - Zinc HARDWARE LOCATIONS : )
&2 |on
22 |12
I|Z| o
(2)#8 X 1-1/2" PFH WOOD SCREWS S E 5
1 | o =
1.82 =[S a
< E’ &
=I<
Z|I0
Ll
[m] &)
(] (&)
< <<
_ o
Skl
(2)#6-32 X 5/8" MACHINE SCREWS . }Q =
Yo —
0 -
N :Q ol = CZ)
0.063" —=—| =— — DATE: 8/08/12
/ SCALE:  N.T.S.
DWG. BY: JK
e! | CHK. BY: LFS
~ DRAWING NO.:
TX—4209

SHEET 2 oF 7

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 586\Drawings\Current\TX-4208-11.dwg, 3-2

PUNCH OUT
‘\ 35.5 l' fz-;.;i‘ 3§ FeR s
"11.1\: 'A.:x'_;&“:‘:»
=g % ¢ . C— > E— 5 ; A H=
2.75" —— ) ) ) —+ =250
3.75" 8 8 8 5 g
10.75° -~ 1050 —
18.75" ——————— 18.50"
26.75" 26.50"

a ANCHOR SCREW LOCATIONS (E)
8| g

o= O o oL o1 i -

< 5.5" ! 35.5"

< 8'-0" ALUMINUM ASTRAGAL ASSEMBLY

By Endura Products
BOLT RETAINERS
i 19.63" Jy i io ALUMINUM ASTRAGAL
[| 4 L | SLIDE BOLT ROD
SLIDE BOLT ROD VIEW A-A
MATL: Steel Aluminum Astragal Assembly

2.65"

J

ULTIMATE HURRICANE ASTRAGAL

#8 X 3/4" PFH WS

DEADBOLT STRIKE
PLATE

#8 X 3" PFH WS g

LATCH STRIKE PLATE

BOLT RETAINER
MATL; 9-3/4" Aluminum

LATCH AND DEADBOLT DETAIL

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595
813.659.9197

Documents Prepared By

BUILDING CONSULTANTS, INC.

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

ENDURA
ASTRAGAL DETAILS
(ULTIMATE HURRICANE)

PRODUCT:

LFS
Y

REVISIONS

5/5/15 |ADD NEW ASTRAGAL PIN CAPTURE |LFS | PART OR ASSEMBLY:

1/06/14 |ADDED ARTICULATING SILL

1

NO,| DATE

[a\]

oAaTE: 8,/08/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4209

SHEET 3 oF 7/

© 2008 R.W. BUILDING CONSULTANTS INC.



95.25" MAX. DOOR

:': 73 e % é!’\" an
INTERIOR R SGuig i 22, Ed
—— 124" |~ — 28" 124" |=— : S8 g+ 2 e
TOP RALL 2 oo 200 2l
7 N (COMP) sl 3 gk
/ \ ' ? : i THEEE
. A : N i, 8 3 £y o
R / : \ .. E_,.-' 3 a‘ >U b ﬂé
.« ¢ : P I
o o ) gzo 2w
EXTERIOR FOAM CORE . B 28, by
D . POLYURETHANE - 8 =255 8
HINGE STILE 24" LONG (BEESTLE ( ) R £ 3o& £k
(WOOD) LOCK BLOCK 26
(WOOD) 8 L
(WOOD) c @ g E
E )
= |
(3}
@ HORIZONTAL CROSS SECTION g
4
)
n=Z
=N
<C
53
< —
o =
36.0" MAX. z |2 5=
PANEL WIDTH - Bl
INTERIOR EXTERIOR . < 83
EXTERIOR o ol S2
21.0" MAX , " § ol 3
D.L.O. WIDTH @ #6 X 1-1/2" PH SMS 2 <
4 GLASS BITE 7/16" [ P
INTERIOR "
A 1/2" NOMINAL GLASS THK. P
L . 3
| / ! ;il\/lg ST@\ACI:’ERED GLASS 24 Ga. STEEL SKIN \ Z >
=4 wn
S o J|2| B
- N S ~~—1/8" TEMPERED GLASS 3|
T xx S =15 |2
o <9 Y 23l B
m =Y w10 STEEL SPACER ERE
5 2 [ x W g%
2 R3 EXTERIOR Q'SO SEALANT =
= & old
LOW TACK SEALANT < 8|3
BOTTOM RAIL p 0|
GLAZING DETAIL (COMP.) NN
Gl |t . N [=
Lip Lite Insert Glazing g g ok
NRE
b DATE: 8,/08/12
SCALE:
/ 2\ VERTICAL CROSS SECTION LIE
THERMA-TRU W DWG. BY: JK
Insert glazed cHk. B:  LFS
(steel) DRAWING NO.:
TX—4209
SHEET _4 oF 7

R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 586\Drawings\Current\TX-4208-11.dwg, 4-2

© 2012 R.W. BUILDING CONSULTANTS INC.



R:AClients\Endura PERMANENT\Texas Dept of Ins\TDI - 586\Drawings\Current\TX-4208-11.dwg, 5-2

D

1/4" MAX.

0.15"
SHIM SPACE = C'SINK
EXT. SHEATHING 7 (TYP)
2X FRAMING e |/~ #10X25'PFH WOOD SCREW
(G >=0.42) \ /
— JAMB
ENDURA WEATHERSTRIP
(QEBD 650)
INTERIOR
N
/ EXTERIOR
DRYWALL —
#8 X 2.5" PFH WOOD SCREW #8 X 1" PFH SMS
#8 X 3/4" PFH SMS 4" HINGE

m HORIZONTAL CROSS SECTION
\y Inswing shown - Outswing also approved

4/9/?
/

/

ENENES
NI,

v
.
o

|~ DEADBOLT: KWIKSET SIGNATURE SERIES

(980/985)

\ LATCH: KWIKSET SIGNATURE SERIES

(991)

CORNER PADS (TYP.)

ULTIMATE MULTI-POINT ASTRAGAL
ULTIMATE HURRICANE ASTRAGAL

/— DOOR PANEL

-

ENDURA WEATHERSTRIP
(QEBD/PE 650)
;X
#8 X 3"PFH WS
#8 X 1" PFH WS

m HORIZONTAL CROSS SECTION

3/

uj
aq
.
L
53
Ex o
£¥* n
[T M
0w (5]
.Q ~
L dm
cg 8
o 02
'OP_.I [SN]
c T 10
s 5@
>m
owm
0
I\
X
0
m
(]
o

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

%)
=
29
<< E(_)
[h e o 210
= I Sn
<) ol N
= S| W
Ly wl v
4 28
< &)
= o
(S)
= o
o e
© <
o o
U)U))_
515(m
L
i
o)
=
<
ol
2|l=
=5
cn_LD %)
-~
=
SIEl B
<| g (L2
s >
=D
nlo| (W
<|=| |
o
=
=<
Z|la
Y]
ala
Q|lQ
<<
o|¥
N
Qo<
DN
—lo
NIT|1=
DATE: 8/08/12
scAaLe:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4209

SHEET 5 oF 7

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 586\Drawings\Current\TX-4208-11.dwg, 6-2

EXTERIOR

INTERIOR

— 2X FRAMING
i ><_ (G >=0.42)

(1l DOOR PANEL
EXT. SHEATHING 1l DRYWALL \
\ ' ¥y / ENDURA DOOR SWEEP

il ' ENDURATHRESHOLD ok )
| P #v:/%)c()%sslgggw (Z-SERIES INSWING ARTICULATING
/4" MAX 4 P d B SILL w/ PIN CAPTURE)
: ’: #7ACL4565 (sh
SHIM SPACE \ ) 9 CL4565 (shown)
bZa
SHE

DOOR PANEL \

u

\— HEAD

LT

ENDURA WEATHERSTRIP v
(QEBD/PE 650)
EXTERIOR W INTERIOR

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4"ELCO OR
[TW CONCRETE SCREW

/"5 \ VERTICAL CROSS SECTION

/"1 "\ VERTICAL CROSS SECTION

w Outswing shown - inswing
also approved

W Inswing configuration

ZAC4565FN (shown)

//
INTERIOR  y50R PANEL EXTERIOR EXTERIOR INTERIOR EXTERIOR
ENDURA WEATHERSTRIP 4\\\
(QEBD/PE 450) DOOR PANEL DOOR PANEL
ENDURA THRESHOLD ENDURA DOOR SWEEP \ ENDURA DOOR SWEEP
(Z-SERIES OUTSWING) (DBK-R) (DBK-AC)
ZOB4565FN (shown) ENDURA THRESHOLD ENDURA THRESHOLD
(Z-SERIES INSWING ARTICULATING)

(Z-SERIES INSWING ADJUSTABLE)
ZAI4565FN (shown) \

d

&P

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4"ELCO OR
ITW CONCRETE SCREW

I

7“2\ VERTICAL CROSS SECTION

\é/ Outswing shown

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4" ELCO OR
[TW CONCRETE SCREW

7“3\ VERTICAL CROSS SECTION

w Inswing configuration

=
ot

// INTERIOR

N -I.

)

LT

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4"ELCO OR
ITW CONCRETE SCREW

7“4\ VERTICAL CROSS SECTION

\U Inswing configuration

ui
R

- ¥ m

82, Eg
=/

E* g; %oo

[T . T

i Gl oY

e z°. Zd

W £ N

& ;g E!i Ef 52 :f £ S

o Eo0% 22

Bl <23 oo

c EETiD ==

k) Jge 0k

a>m ﬁé

Z oo ob)-

L oM X o

) ON= oW

o ng h_m

e Zm, OL

o q .c Do

& 592 gp

o moo 05

PR

i o

3 =
[+
o

%)

=

o

=

O

L

n

= n

S w0

S &

5 S
L

-

<

S

- =

5 o

) L

o >
o
&
a

il P

o)

5/5/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS | PART OR ASSEMBLY:

1/06/14 |ADDED ARTICULATING SILL

2
1

NO,| DATE

REVISIONS

oATE: 8,/08/12

scAE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4209

SHEET 6 oF 7/

© zo12 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 586\Drawings\Current\TX-4208-11.dwg, 7-2

>N % 2X framing (by others) gg
gox 53 2
(N_ — 8 A\ 21! o e —— TYP ('E.Q!' 8 w (5 2 g":l
RE = (TYP) & (TYP) Astragal Strike Plate 5.: wt 2 s die
‘ —e] r__ (TYP) ‘ @ Head Jamb f,;o gg grs g’:
o . - e, i ‘) \))“,‘ : : I o) E .(t) o; g Q
’ | SEEHINGE B TR T l _{ gé LR 5 288 gt
2 I \ = o J = Gy ai s TUQRNE Zom 50
&~ T | #10 X 2.5' PFH DETAIL 1 % \ ot § SN 8§
"9\; T\/#))%DHSCREW % % N "N 3 % éf LoLlc‘S
(TYP. @ HEAD = ) g 245 0
AND JAMBS) #10 X 2.5" PFH WS 2 2or gE
- - —— 8o
& . | DETAIL 1 N
3 \ PEALL : &
N g 3
. \\
N s - —& ) #8 X 2-1/2" PFH WS
i | | [0 9) ‘/%
b SEE HINGE " Coll .\< o
DETAIL 2 #8 X 1" PFH WS 4:. e S —F= #8X3/4"PFH Ws 2
s - " 4" X 4"HINGE g |8
| )
o W
i ﬁ . I HINGE DETAIL 1 A
] /7DI:TAIL2,30R4 N o o &
i 5 x
- — =
' \ L 5 iz
= & £
% #8 X 2-1/2" PFH WS
e #10 X 2.5" PFH WOOD SCREW L ; S
(4|| (1:)YP ) - 1/4" X 2-3/4"ELCO OR s - "
’ ey OF [TW CONCRETE SCREW " = 14
HINGE JAMB o 7P (VP @ SILL) #XTPRIWS &5 T = #8 X 3/4" PFH WS 2
— 4" X 4" HINGE S B
FLOOR SUBSTRATE MATERIAL (TYP.) FRAME A’;{)SHOR’NG 2|3
CONCRETE (MIN. 3000 PSI) e Q
WOOD (G >=0.42) * , , HINGE DETAIL 2 NERS
NOTE: This anchor required for D.P. > 40 PSF. =3 2
B3| (&
< EE o
=<
Ly
Z|o
CONCRETE ANCHOR NOTES: S
1. Concrete anchor locations at the corners may be adjusted to maintain the min. ASTRAGAL PIN CAPTURE #10 X 2.5" PFH WOOD SCREW <<
edge distance to mortar joints. COMPONENT (UNDER CAP) 1/4" X 2-3/4" ELCO OR 0¥ W
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to ITW CONCRETE SCREW }g =~
maintain the min. edge distance to mortar joints, additional concrete anchors ) 1/2" DIA. HOLE (IN CAP) }> P
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. 1/2" DIA. HOLE S
hor table: \\ 5 > 5 = = =
OR | MIN. | MIN. CLEARANCE [ MIN. CLEARANCE| (== = = g S —— ASRAGALPN o 5/08/12
TO MASONRY. | TO ADJACENT S 3 F CAPTURE SCAE N.T.S.
S R S e o o e o CHOR: COMPONENT DWG. BY: JK
,TW - "w " " CHK. z LFS
1aPcoN® | 1/4 1-3/4 2-1/2 3 DETAIL 2 DETAIL 2 DETAIL 3 DETAIL 4 e
ELCO 14" 1-3/8" - - Ouftswing Inswing Inswing Inswing TX—4209
ULTRACON )
SHEET _/ oOF 7

@ 201712 R.W. BUILDING CONSULTANTS INC.




